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We study the system of ordinary differential equations with real constant coefficients in n-dimensional
space, n > 2, with impulses in the non fixed moments. The conditions of existence of infinite se-
quence of angular momentum and the absence of beating.
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���� η (t0, y0, t0) = y0� ��� ������ ������ �������
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y1 = y (t1)+g� %�"������ &����� ��!�" (t, y (t)) #������� ���"���
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n+1 : y (t) = η (t, y1, t1) , t � t1}� $�  �����
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��
 ��� � ������ y (t1) = y1� �� �"���#���� ���	��� !"�� t2 (t2 > t1)�
���� (t, y (t)) ����� #���"#��� �" D0 � ����

,��	��� !"�� tk, (k ∈ N)� ��
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D+ = {y ∈ R
n : (b, y) > c1} , D− = {y ∈ R

n : (b, y) < c1} ,

�	 �	���� b ��'�"��� �"�� $� #��#��$��" D+ �	 ������� #�!"��� �������"��
0��	��"���" ����" ����	�� ��� - �*� #	�	���" ��#	�#��$��� D0� 
�$�1

��1� : ��"� ������"�� ����	�� ��� �#�!"��� �������"��  "���#����!�� �������
�" y0 ∈ D+ ∪ D02

��1� : ��"� ������"�� ����	�� ���  �	������� �" y0 ∈ D− ∪ D0�
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���� $�' ��� ��� �	����"�� b �" g '�� �������� ��'��
��1,1� : (b, g) > 0 ,
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 ��#"��� ��1� �	�'������ $�' ��� ��� �	����"�� b �" g '�� ��#��� ��'��
��1,1� : (b, g) < 0 .
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 ����� ��1�� ��!�" (t, y (t))� ���/��/� �� #�!"

������� #����	��
 (t0, y0)� � #	�	'���� !"�� t ���" ���
 �� #�!"��� �������"�� %
���	�� t1 ���" #���"#�
 �" ��#	�#��$��� D0 �� ��#"���� ���� y0 ∈ D0 ���	��
t1 = t0� � (���� ��) #	�	��"�� � #����	��
 (t1, y (t1)) � (t1, y1)� �	 y1 = y (t1)+g�
5�������� � �	��	���!��� ��!�� ���� ����" ��1,1� ���"!" � $� ��� ��� �	��

�"�� b �" g �������� �� y1 ∈ D+� 6���
 &���� ��!�" (t, y (t)) (t > t1, y (t) ∈ D+)
#������� ���"���
 �� #�!"��� �������"�� 7 ���	� ���� ���	�� t2 
 ���	��
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 ��!�� � (t2, y (t2)) �" (t2, y2)� �	 y2 = y (t2) + g� #��!��� y2 ∈ D+ �
���� 5��	� ��!�" (t, y (t)) � #����� !"�� t �	����!	��� �������� �"��� #���"#�
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 ��1,1�� %�&������	 �������	
��� D0
 ��'

��	� g � �	��� y0 ∈ D+ ∪ D0 �� �($����	 ��	�� �������	��� ����$ ��$ �	��($���
������ ��� � ����
)	������	 Tk = tk+1 − tk (k = 0, 1, 2, . . .)� *	�� �� ���+�	��� �� �	���+�	'
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∞∑

k=1

Tk ��������
 ����	����	
 ��������$ �� ����������� ����$ �	��($���
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� %�����	 �����,# A �	 +	����	�	� &	��� J = B−1AB
 �� B
� �����,$ ����!	�� ��� ������ x1, x2, . . . , xn �	 ������ y1, y2, . . . , yn� *	��
 ����'
�� ��� � ��� � ������ x1, x2, . . . , xn ������ ����$�-

dx

dt
= J x (t) , t ∈ [t0, +∞) , �.�

x (t0) = x0, �/�

x (t + 0) − x (t − 0) = h , �	�� x (t − 0) ∈ S0, �0�

�� x0 = B−1y0
 h = B−1g
 x0 ∈ S+ ∪ S0
 S0 = {x ∈ R
n : (a, x) = c1} , S+ =

{x ∈ R
n : (a, x) > c1} , S− = {x ∈ R

n : (a, x) < c1} , a = B−1b
 ��	�� (11,1) ����'
��� ����$�� (a, h) > 0.
%($����	 ��	�� �������	��� ����$ ��$ �	��($���� ������ �.� � �0�� 2	���$���	

��������
��  �!�" ������ �������$ �����,� J ��"���
 ���(���� �� ����� ��+ �	�	#
 �	��	

λ1 = λ2 = . . . = λn = λ < 0 � ��	�������	# ��������# n� *	�� �	��($�	�
������ �.� � �0� ��$ t ∈ [tk, tk+1) (k = 0, 1, ...) ��� ����$�⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
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x1 (t) = x01e
λ(t−t0) + h1

k∑
j=1

eλ(t−tj),

x2 (t) = x02e
λ(t−t0) + h2

k∑
j=1

eλ(t−tj),

· · ·
xn (t) = x0,neλ(t−t0) + hn

k∑
j=1

eλ(t−tj),
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=
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(a, x0) eλ(tk+1−t0) + (a, h)
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j=1

eλ(tk+1−tj) = c1. ���

������������ ��������� k = 1, 2, . . . � ���
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t1 = t0 +
1

|λ| ln
(a, x0)

c1

, tk+1 = tk +
1

|λ| ln

∣∣∣∣1 +
(a, h)

c1

∣∣∣∣ , k = 1, 2, . . . ,

(a, x0) � c1 ����� �� x0 ∈ S+ ∪ S0	
!���� ��� ��
�"� ���� �����#� J ������
 Tk (k = 1, 2, . . .) ��� �����
���
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Tk =
1

|λ| ln

∣∣∣∣1 +
(a, h)

c1

∣∣∣∣ > 0, k = 1, 2, . . . , �%�
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��� λ1, λ2, . . . , λn	 . # ��� ������� ����'���� x (t) = (x1 (t) , x2 (t) , . . . , xn (t))
������� ��/���
#��� 
�� ���
�
 � ����� �
�� ���� �(� ) �*� ��� t ∈ [tk, tk+1)
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x1 (t) = x01e
λ1(t−t0) + h1

k∑
j=1

eλ1(t−tj),

x2 (t) = x02e
λ2(t−t0) + h2

k∑
j=1

eλ2(t−tj),

· · ·
xn (t) = x0,ne

λn(t−t0) + hn

k∑
j=1

eλn(t−tj),

�01�

� ����
� tk+1 ���
������ � ���
�

�

n∑
m=1

bm

(
x0,meλm(tk+1−t0) + hm

k∑
j=1

eλm(tk+1−tj)

)
= c1. �00�
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��3� D0	 4 �00� 
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�
�-�� Tk	 ��������� 5� Tk >
1

|λ| ln

∣∣∣∣1 +
(a, h)

c1

∣∣∣∣ ��� k = 1, 2, . . .	 !���� �� �����

��1� ��&������� ������

� ����� x (t) � ������

� x0 ∈ S0 ∪ S+ 
� "��������
5�
� S0 � ����
� t1� ��������� ������
�� #��$ ����� ��� t > t1	 4"��
� �*�
� ����
� t1 ����� x (t1) 6�������7 ���������� � ������

� x1 = x (t1) + h ��
����
�� �������� �� ������� ������
�� ������ �����$

x2 =
x21 + h2

x11 + h1

x
λ2
λ1
1 , x3 =

x31 + h3

x11 + h1

x
λ3
λ1
1 , . . . , xn =

xn1 + hn

x11 + h1

x
λn
λ1
1 ,
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��� � !"� #�$�� t2− t1 >
1

|λ| ln

∣∣∣∣1 +
(a, h)

c1

∣∣∣∣� %
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	������

��� t > t2� ���
$���� ��
�������
��� �&
�	� t3 − t2 >
1

|λ| ln

∣∣∣∣1 +
(a, h)

c1

∣∣∣∣ 
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��������) �
) Tk >
1

|λ| ln

∣∣∣∣1 +
(a, h)

c1

∣∣∣∣ ��� k = 1, 2, . . .�
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	������ �� ��������� � S+ ���
����� �� S0 ��
�
��
�� � 
�� �� �
��
� ��
��������� � �����	� ��	�
������ ����� + �����	�
!"� � ��
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���� �������� ���
�&
 J 
�� ����	 x (t) �
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��	� J = B−1AB,
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� 
���
��� ������� -." �� -!"0

dx

dt
= Jx (t) ,

dx

dt
= B−1ABx (t) ,

B
dx

dt
= ABx (t) ,

d (Bx)

dt
= A (Bx (t)) .
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 Bx �� y� ���
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dy

dt
= Ay (t)
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x1 (t) = x01e
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)j
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(
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· · ·
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|x1 (t)| � eλ(t−t0) |x01| +
∣∣∣∣ h1c1
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|x2 (t)| � eλ(t−t0) |x02| +
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· · ·
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